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Q.1. Encircle the right answer, cutting and overwriting is not allowed. (1x10=10)

(i)

(ii)

(i)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

The property Va,be R, eithera<b ora=b ora>b is called —--

(a) Closure Property (b) Commutative Property
(c) Trichotomy Property (d) None of these
I =2 3
The value of determinant (-2 3 ||= jg—---
|4 -3 2
(a) -25 b)-20 c) 7 (d) None of these
If (—/)w =
(a)1 (b) i (c) =i (d) None of these
The Product of all three cube roots of unity is —---
(a)1 {b) -1 fc)a (d) None of these
If e, 3 are the roats of the equation ux’ +bx +¢ = 0. Then the value of at= =
b* +2ac b* —2ac b —ac .
(a) g (b) ——— (c) - (d) None of these
as a a
Which term of the arithmetic sequence 5,2, 1,...,is —~857 is ----
(a) 30 (b) 31 (c) 32 (d) None of these
The number of terms in the expansion of (2a +5)"" is —
(a) 10 (b) 11 {c) 12 (d) None of these
2
The expansion of (1--3x)* Isvalid if
(a) Ix| < i (b |%| < L (o) [x] < 2 (d) None of these
3 =g R

8 .
If tand = l— and terminal arm of the angle is in lI1rd guadrant then value of sec @) = -
5]

-17 17 17 2
(a) l—\ (b) l; (c) r-lg (d) None of these
The value of 2sin° 45" +3¢cos’ 45 =
S S VE
(a) \/5 (b) S (c) 5 (d) None of these
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Q.2 Solve the following Short Questions: (2x10=20)
(i) Separate into real and imaginary par'.s(\@ + i)‘ .

[2 -1 3 0]
(ii) Ifthematrix A=| 1 0 4 =2/ thenfind the value of 44",
3 F 2 1
(i) Mz =1+2 and z, = 3-2i then find the value of ;5| + _i
(iv)  Show that the roots of equation 2x” + (mx —1)* =3 areequal if 3m? +4 =0.
(v) Find the sum of the first 17 terms of the arithmetic series 4 + 9+ 14 +....

(vi)  Find the term involving x" in the expansion of (2x + 3)’

I S |
(vii) Find the nth term of the HP. —,——,— ...,
9'12 15

(viii)  Find r when @ '-//i radians, [ =1 cm

(ix) Prove that: Sin® B —Cos® 8 = (Sin 8 — Cos 8) (1 + Sin 8 Cos B)

(x) Find the area of a sector with central angle of 0.5 radian in a circular region whose radius
s2m
SECTION 1l
(5 marks each long question) (6x5=30)
a+x a a
Q3 Showthat| @ a+x a x*(3a+x)
a a a -+ X
Q.4 Solve the equation 4" +4'7" =10
2 2 3 3
Q.5 If @ and /7 are the roots of 5x* —x = 2 =0, form an equation whose roots are — and 7;
iz 2 Y
Q.6+ Find the term independent of X in the expansion of [ -;’-+ —J
\2 ¥
8 3siné +4cosd
Q.7 If tan# =— and terminal arm of the angle is in Ist quadrant then value of ~——————
15 cos@—sind
l-siné
Q.8 Prove that [_— =secd—-tand
V 1 +siné#



